Пример 1. Определить сумму элементов массива АR1[100].

data segment para public 'data'

AR1 dw 100 dup(?) sum dw ?

data ends

. CODE

start:   push ds

push ax

mov
ax,data

mov
ds,ax

. .
. . .    ; Ввод и преобразование массива AR1

. .
. . .

mov
cx,100

mov
bx, offset AR1  ;  lea bx, AR1

xor
ax,ax

mov
si,ax

M1:  add ax,[bx][si]

inc si
;  add si,2

inc si

loop M1

mov sum,ax

. . . . .     ; Вывод результата на экран

. . . . .     ; продолжение программы

pop ax

pop ds

mov ax, 4C00h

int 21h

code  ends

end start

